Seat No.:

Enrolment No.

GUJARAT TECHNOLOGICAL UNIVERSITY

Diploma Engineering - SEMESTER-V « EXAMINATION - SUMMER 2013

Subject Code: 350602 Date: 14-05-2013
Subject Name: Quantity Survey and Valuation
Time: 10:30 am - 01:30 pm Total Marks: 70
Instructions:
1. Attempt all questions.
2. Make suitable assumptions wherever necessary.
3. Figures to the right indicate full marks.
4. English version is considered to be Authentic.
Q.1 (a) 1) Enlist the qualities of good estimator.
2) State the deduction rules in plastering.
(b)  1)List the factors affecting on rate analysis and explain any one in detail.
2) Differentiate Valuation and Estimate.
Q.2
(a)  Workout the quantities of the following items of work from Fig.-1 R.C.C.
Column
1)Excavation for foundation in ordinary soil
2)C.C.(1:5:10) for base
3)Formwork for a column and its base
(b) 1) Steelwork for column
2) C.C.work(1:2:4)for column and base
OR
(b)  1)Prepare barbending schedule
2) Calculate Cement, Sand and Aggregate required for column
Q.3
(@)  Workout the quantities of following items from Fig.-2 Residential
building.
I)Excavation for foundation
2)C.C.(1:5:10) in foundation
(b) 1)D.P.C. at plinth level
2)Earth filling in plinth with murrum
OR
Q3 (a)  Workout the quantities of following items form Fig-2 Residential
Building
12mm thick plastering in CM(1:4) inside only.
(b)  20mm thick sand face plaster in outside only
Q4
(a)  Draft detailed specification for R.C.C.(1:2:4) Slab.
(b) 1) Enlist types of value
2)Enlist characteristics of good valuer.
OR
Q.4 (a)  Define Specification. State the principles of specification writing.
(b)  Write Mode of measurement as per IS 1200 for brickwork
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1)A person purchases a house for Rs.5,60,000. The scrap value of
building is 10% of the construction cost. The life of building is 45 years.
The rate of interest is 6.5%. Calculate the installment of sinking fund.
Take land cost Rs. 70,000.

2)A loan of Rs. 6,00000 is to be repaid in 16 equal installments Calculate
amount of each installment if rate of interest is 11.5%.

Find out present value of building, which was constructed 20 years before

at a cost of 7,00,000 Assuming life of building is 50 years, Rate of interest

10% and scrap value 8% of construction cost.

OR

1)Enlist the purpose of valuation.

2)Differentiate between
1) Cost - Value 1ii) Gross income - Net income

Explain various methods of finding out depreciation and write formula to

find out depreciated cost after ‘m’ years. If life of building is ‘n’ years.
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Q. 3(A) Figure -2
D 100 x 210 CM. FUULY PANNELED
D1 80 x 210 CM.
W 180 x 150 CM PARTLY PANNELED
W1 100 x 120 CM PARTLY GLAZED
v 80 x 50 CM FULLY GLAZED
(1) ALl DIMENSION ARE IN METERS OTHERWISE STATED
(2) LINTEL BEARING 10 CM ON BOTH SIDE.
(3) DOOR—-WINDOW FRAME 8.0x12.0 CM SIZE.
(4) TREAD 30 CM RISE - 15 CM.
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SECTION NOTE:
v 18nos.16mm®bars both ways (1) ALL DIMENSIONS ARE IN METER (
£ ,,~,_,/ : OTHER WISE STSTED.
LS (2) ASSUME ADDITIONAL DATA
P IN REQUIRED.
8' | (3) NOTE TO SCALE
g{] h.601 (4) ASSUME 4CM COVER TO REINFORCEMENTS
I . .
i = JDIA IN m.m wt in Kg/m
(W 6 mm 0.22 " Kg/m
5 ; : ¥ 16 mm 1.58 Kg/m
ﬂ'—A_N 4no0s.20mmoDowal bars oY Lol

Q.2 (A) Figure-1
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